AH-I/Philosophy/CC-11/19
B.A. 1st Semester (Honours) Examination, 2019 (CBCS)

Subject : Philosophy
Paper : CC-11

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten from the following: 2x10=20
iR @ @ ™G eeiw Sex we ¢

(a) Who are the chief representatives of the Ionic school?

ey wiE-cPe gy afefay F=ie

(b) What, according to Thales, is the fundamental element of the universe?
QECTR MCS T o ToAW 2

(c) Whose view is this that Being has neither beginning nor end, neither arising nor passing
away?

TR @I At (1R W (72, WA TEIE 3, e 72—l Fiwe
(d) What does Heraclitus mean by the term ‘becoming’?
O M ERForFs ud Fie
(e) What, according to the Sophist, is knowledge?
FIfESmR Wte @i Jie
(f) What is a concept, according to Plato?
(21T o AOR F 2
(g) Who is the author of the dialogue Republic?
e BrREeba THRe &2
(h) Write down two characteristics of Plato’s Idea.
(IR @R v @R Swe @
(i) What was original name of Aristotle’s “Metaphysics”?
(j) Which type of cause, according to Aristotle, is regarded as the cause of all changes?
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(k) What does Descartes mean by ‘intuition’?

T e IS IR ?

() What are the two fundamental operations of mind, according to Descartes?

RICER e e g e @ S e

(m) How does Spinoza define attributes?
IE Poe FeiR A@iRe FEE ?
(n) Is Spinoza a pantheist?
Poarel fo s e
(o) In what sense are monads windowless, according to Leibnitz?
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2. Answer any four questions of the following: 5%4=20
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(a) How does Heraclitus argue that both Being and not-being are equally real? 5

CRIEH T (REET @ el 9. PTe] GRS 9 ?

(b) How does Aristotle distinguish between form and matter? 5
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(c) How is Spinoza’s notion of substance different from that of Descartes? 5
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(d) What are the different levels of perception, according to Spinoza? 5
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(e) How does Descartes explain the relation between mind and body? 5
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(f) Distinguish, following Leibniz, between truths of reason and truths of fact. 5
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3. Answer any two of the following questions: 10x2=20
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(a) Analyse the arguments by which Plato refutes perception as knowledge. 10
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(b) How does Descartes arrive at the principle that “I think, therefore I am”? Discuss. 10

“aifi Bel TR, o9 TN TR —@d Freiw G2 Afere TN TEE 2 T B |

(c) What are the different types of knowledge, according to Spinoza? Discuss them
critically. 2+8=10

iR e wiee [fen aeme § Fe el JRem e $@

(d) Give an account of Leibniz’s doctrine of Monads. 10
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